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1500 + 3500 — 2100 = 5000 — 2100 = 2900()
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14+ 26 — 15 = 40 - 15 = 25 (7))
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16000 = (40 x 4) = 16000 + 160 = 100 (&)
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450 + (660 + 6) — 470
= 450 + 110 — 470

= 560 — 470
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(32+4)+ (24 +3)
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1000 — (550 + 350) = 1000 — 900 = 100 ()
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1350 = (5 x 6) = 1350 + 30 = 45( )
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150 X 5 4 (150 X 5 + 100) x 2
= 750 + (750 + 100) x 2

= 750 + (850 x 2)

= 750 + 1700

= 2450(%)
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10000 — (160 x 24 4 300 x 6 + 400 x 8)
= 10000 — (3840 + 1800 + 3200)
= 10000 — 8840 = 1160 ()
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(1000 = 5) + (800 + 4) = 200 + 200 = 400()
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300 + (800 + 2) — 550
= 300 + 400 — 550
= 700 — 550 = 150(Q)
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(400 x 3) + (8 x[__]) = 5000 — 1000
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(30x18—-T9%x6)+2=(540—474) + 2
=66 + 2 = 33(7M)




